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ENGLISH VERSION

1 Gave the definition of Cost accounting and explain differences 14

between Cost accounting and Financial accounting.

OR
1 What is Cost accounting ? State its advantages. 14
2 Parag Co. Ltd. manufactures a special product. 14

The following particulars were coll_ected for the year 2014. :

Monthly demand of product ........... 650 units
Cost of placing an order .................... Rs. 150
Annual carrying cost per unit ............. Rs. 26

Normal usage 150 units per week.

Minimum usage 100 units per week.
Re-order period 1 to 5 weeks. |

Compute from the above :

(1) Economic Order Quantity.

(2) Number of orders to be placed in a year.
(3) Re-order Level.

4) Maximum Level

(5) Minimum Level

(6) Safety Stock Level

(7y Average Stock Level (on the basis of EOQ)

OR
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2  The following are the transactions of Parin Company for 14

receipts and issues of an item of material :

October 2014 Particulars Units Price per unit
1 Purchases 180 2.00

5 Purchases 360 3.00

12 Issues 300 -

14 Purchases 420 3.00

20 Issues 480 -

25 Purchases 180  4.00

29 Issues 60 -

The issue on 12-10-2014 and 20-10-2014 are priced on LIFO
and FIFO basis respectively. It was decided to price the
issues of 25-10-2014 on weighted average method.

Prepare Stock Register for material.

3  Raja, Maharaja and Samrat are three labourers in a factory. 14

Standard time allowed for a job is 50 hours. Wage rate per
hour is Rs. 60. To finish the job Raja takes 30 hours,
Maharaja takes 40 hours and Samrat takes 50 hours.

What wages will have to be paid to each one as per the
following methods :

(1) Time wage system
(2) Piece wage system
(3) Halsey wage system
(49) Rowan wage system.

OR
3  The following information is extracted from the record of 14

Good Bye Company Ltd. for the month of October 2014 :

Number of employee at the beginning of the month ..... e 950
Number of employee af the end of themonth ... 1,050
Number of employees resigned.........cccoeeiiviiiiinnnnnnn. rrraaa 10
Number of employees discharged ................ ORI R 30
Number of employees replaced in the vacancies ...................... 20

Number of employees appoihted due to expansion scheme ... 120
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Calculate the Labour turnover rate and equivalent annual rate
as per following methods :

(1) Separation method
(2) Replacement method
(3) TFlux method.

4  In a factory there are three production department A, B 14

and C and two service department D and E. The details of
the expenses during October, 2014 are as under :

Indirect wages .....cocoevveeeiiveiiieenen Rs. 3,000
InsSurance ............... et Rs. 1,500
Can_teeh EXPENSES oo, Rs. 4,500
Lighting expenses .........._.. R Rs. 2,000
Rent and rates ......ccoeveveeeneeeeieennn, Rs. 3,800
Contribution t0 EST ......coccovvvenerinnee. Rs. 1,000
Depreciation........cccccvvevveeeerieneenne. Rs. 12,000
Power exps. ............................. v Rs. 22,500

Other Information :

Particulars A B C D E
Lighting points 6 4 4 3 3
Direct wages (Rs.) 6,000 5,000 4,000 3,000 2,000
Cost of machine(Rs.) 72,000 48,000 36,000 12,000 12,000
Horse power of machine 6 6 3 '

Space occupied (sq.feet) 600 400 500 200 200
Number of workers 5 6 4 2 1

The béne_fits of ser‘}_ice department D and E derived by the other
departments in the following proportion : .

Particulars A B  C D E
Department D 40%  30%  20% - 10%
_ Department E 30% 40% 30% - -
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Prepare the statement showing :

(1) Distribution of overheads to various departments and,

(2) Distribution of expenses of Service departments to
Production departments.

OR

4 In a factory there are 4 machines A, B, C and D. Each 14

machine occupies equal space. From the following information
“calculate the machine hour rate in respect of machine D :

(1) Price of the machine D is Rs. 1,00,000, scrap value of the
machine Dis Rs. 10,000, useful life of the machine D is 9 years.

(2) Rent and rates of the factory Rs. 2,500 p.m.
(3) TInsurance premium of machine D is 7% p.a.

(4) Electricity for the factory annual Rs. 20,000
(Machine D using 4 light points out of total 20 points.)

(5) Wages of workers - per worker per month Rs. 2,500
(Total 4 workers, they give equal time to each machine.)

(6) Supervisor's salary Rs. 5,000 p.m.
(spent equal time on each machine.)

(7) Repair and maintenance of machine D — Rs. 18,000
(for useful life)

(8) Annual power expense of machine D is Rs. 60,000.
(9) Power consumption of machine D is 3 units per hour.

(10) Rate per unit — Rs. 8.
5  Whatis Cost Audit ? State its advan'tages and disadvantages. 14
OR | |
5  Explain in detail about; how to prepare reconcﬂi_ation 14

statement among with cost and financial accounts.
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